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QUESTION 1

In an OSPF environment, what must a router receive after it sends out an update? 

A. The router must receive an acknowledgment 

B. The router must receive a Hello 

C. The router must receive a new sequence number 

D. The router must receive a Link State Packet 

Correct Answer: A 

 

QUESTION 2

What is the default inbound metric for RIP on the Alcatel-Lucent 7750 SR? 

A. Whatever the advertised metric happens to be. 

B. A value of 1. 

C. This must be administratively set as there is no default value. 

D. A value of 15. 

Correct Answer: B 

 

QUESTION 3

Exhibit Given the two configurations shown, identify the two incorrect statements below: (Choose two) 
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A. Both routers will generate OSPF Hello packets. 

B. The system interface is missing in one configuration so OSPF will not operate correctly. 

C. The interface type settings differ, but OSPF will still operate correctly. 

D. Metric values differ, but this does not prevent OSPF operation. 

Correct Answer: BC 

 

QUESTION 4

Click the exhibit button. 
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What is the state of adjacency? 

A. Initializing 

B. Up 

C. Down 

D. 2-Way 

Correct Answer: C 

 

QUESTION 5

Click on the exhibit. 
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Examine the physical topology of the IS-IS network, the metrics of the links and the levels of the routers. All routers
have a system address included in IS-IS. Which of the following describes the route that router R4 will use to reach the
system address of router R6? 

A. Router R4 will have a route to router R6\\'s system address with router R2 as the next-hop. 

B. Router R4 will have a default route with router R2 as the next-hop. 

C. Router R4 will have a default route with router R3 as the next-hop. 

D. Router R4 will not have a route that can be used to reach the system address of router R6. 

Correct Answer: D 
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